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Read the following passage and answer the questions 1 to 5.

Money Bills originate only in the Lok Sabha. If a dispute arises as to whether a
Bill is a Mur;ey' Bill or not, the decision of the Speaker of the Lok Sabha is final. The
Rajya Sabha has no power to reject a Money Bill. It can only make recommendations,
i.e.. suggestions. The Lok Sabha may accept or reject all or any of the recommendations
of the Rajya Sabha.

Ordinary Bills can originate in either House. In case of disagreement between
the two Houses. the Bill is referred to a joint sitting of both of the Houses. It seems that
the two Houses have been placed on an equal footing in this regard. Really speaking,
the Rajya Sabha is in a weaker position in the matter. Since the total membership of
the Rajva Sabha is less than even half of the total strength of the Lok Sabha, the will of

the Lok Sabha would naturally prevail at a joint sitting. Moreover, a joint session is
presided over by the Speaker of the Lok Sabha.
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Members of both the Houses can put questions to ministers about the work of
their departments. They discuss all matters of public importance. But here again, the
Lok Sabha has more power than the Rajya Sabha. The Council of Ministers is
responsible only to the Lok Sabha. The Rajya Sabha has no power to pass a motion -
expressing No-Confidence in the Council of Ministers.

The Constitution puts the Rajya Sabha on an equal footing with the Lok Sabha
in these matters : the election and impeachment of the President, removal of the
Judges of the Supreme Court and the High Courts, Proclamation of Emergency,
Promulgation of Ordinances and Constitutional Amendments.

The fact remains that the Rajya Sabha is not at par with the Lok Sabha. It does
not, however, mean that the Rajya Sabha has no important role to play in the
Governmental machinery. Neither House by itself constitutes the Parliament. It is the
two Houses together that are the Parliament in India. The Parliament can create new
All India Services only if the Rajya Sabha passes a resolution to this effect.

Moreover, the Rajya Sabha is a ‘Continuing House', a Parliament chamber. It is
not subject to dissolution like the Lok Sabha. It has to play a major role during the
periods when the Lok Sabha is dissolved. All this helps to show that the Rajya Sabha is
an influential and useful body.

L AR T B RN A .

W““ s
i, - (4) afieth wwd T
Money Bill originates only in the
- (2) Rajya Sabha
(3) Vidhan Parishad B e Loty

2 fa e s 6 § 9 e ?
1) g oo oty
(4 i 1 1

3) m “ - | "

Scanned by CamScanner




115
3. e fadad gdvan g 9] igd WA,
(1)  T=gay (2) wrea
/m/mi% FHIAH FTR (4) =t a1
| Ordinary Bills can originate only in
1 1
' (3) The Rajya Sabha (2) The Lok Sabha
(3) Any House of the Parliament (4) None of the above
4.

() TR T wee s e
@) ¥ ST o o 3w s

M St o e

> 3

Scanned by CamScanner



115

WA IATN AT 6 9 10 TyTet IN AT,

mmmmmm%ﬁwmwﬁ@m-

\.) TSl ‘"a“""ﬂﬁﬁﬂw_ﬂjﬂm e, IgEnY, 186331%3@@_@
'?“E‘“——\m@'*'w'_ i’ﬁh)am an, fean sl e a1 fepeiar waaET SR
\ ""\ mﬁﬂ,mm 1mmmm g

o dF wifewie geen wwd geer grew=n @len. 1865 — 1876 41 wen@s EfEidie
TSRS G HIE FAA TR QA Ui Geawi e A §qvl e fie am
IS gE we. A sifusn sifuftem, 1875 sEn @i s ow e Sevrated amvEHE 9
AT el WA, R AW waifEa wE, wn g me weh dew @i mem snfde e

fawrefra @ SzwmErea g dE wearfra e fm w s
Hraarder wd srammEEe) fawdE @ SeHETen T, fave

Scanned by CamScanner



D 7 115

Read the following passage and answer the questions 6 to 10.

In the election of 1860, the Republican candidate Abraham Lincoln was elected
as the President. The Republican Manifesto had included a promise of political freedom
to the Blacks. Steps were taken to fulfil the pledge taken during the Civil War, and a
number of Constitutional Amendments were done so as to give more political freedom
to the Blacks. For example, the Thirteenth Amendment passed in 1863 by the
Republican government was about the Abolition of Slavery. The Fourteenth
Amendment of 1868 ordered that the right to vote should not be denied to anybody on
the criteria of race, colour or a history of slavery.

These three Constitutional Amendments set a powerful precedent. The political
diplomats who had vowed to reconstruct the Southern States during 1865 — 1876,
began to strive towards securing the complete citizenship rights for the Blacks. The
Civil Rights Act of 1875 opened a number of fields for them where they would not be
discriminated against. The success, however, was limited; because towards the end of
the period of Reconstruction, the erstwhile slaves had fallen into the grave situation of
economic slavery. The Supreme Court in 1883 declared that the Civil Rights conferred

upon the Blacks were unconstitutional.

Their voting rights were snatched away during the decade of 1890's using the
trap of literacy tests. Other provisions of the Act that aimed at fighting the racial
diserimination were not implemented properly. Consequently, processes of segregation
and diserimination became deeply entrenched in most of the institutions in the United
States. Jim Crow Laws and other such traditions supported segregation and
discrimination against Blacks in all walks of their life. The Supreme Court
validated :::agntmn int::umhor of related cases. This meant that it became legally
Government Act which took away their voting rights and legalized segregation was
declared to be constitutional and legal by the Supreme Court. This put the an
ironical situation. Technically, they were declared t -I*;;‘i o same statys.
but they were compelled to stay sej _ B

O
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Read the statements.

(a) The Republican Manifesto of 1860 had included a promise of political freedom
to the Blacks.

(b)  The Thirteenth Amendment provided for Abolition of Slavery.

(¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the
Blacks were unconstitutional.

Answer Options : g
(1) (b)is the effect of (a). s« s R
(2) (a)is the effect of (b). . Tl e |

(3) (c)is the cause of (a). REPEE, " m:j. .,p,u
(4) (a), (b) and (c) are unrelated. tiert
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The Civil Rights Act of 1875 had limited su '
(1) there were many fields open for e
(2)  the Blacks did not have voting rig
(3) the slaves had become too poo
(4)  Southern States were being re
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Processes of segregation and discrimination became deeply entrenched in most of the
institutions in the United States because

(1) slavery was abolished by the Thirteenth Amendment.

(2) the provisions of the Civil Rights Act were not implemented properly.
(3) right to vote was conferred upon the Blacks.

4) one of the above
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Which of the statements about Booker T. Washington and W.E.B. Du Bois is

incorrect ?

(1) Both were American Presidents.

(2) Both were active in the Black Movement.

(3) Both did not agree on the way in which the movement should be carried out.

(4) Washington was a moderate, while Du Bois followed radical policies.
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Read the following passage and answer the questions 11 to 15.

El Nino and La Nina Ocean Currents

El Nino is a warm ocean current which occurs irregularly in the Pacific Ocean.
The invention of El Nino is useful for the prediction of global change in annual climate
and monsoon rainfall. But the generation, extension, period of El Nino is not yet
predicted accurately. El Nino is a cyclic incidence which happens at the interval of a few
years. The temperature of the Peruvian coast does not fall considerably because of this
current. El Nino is considered as Christ’s child on the Peruvian coast because it arrives
after Christmas. El Nino is a warm water ocean current which creates tropical type of
ocean climate along the Peruvian coast which gives good rainfall to the desert area.

The strong El Nino brings heavy rainfall exceeding normal rainfall resulting in
lush greenery in the otherwise dry coastal land of Peru. Sometimes the strong El Nino
causes heavy rainfall along the Peruvian coast and destroys the marine life (death of
fishes due to loss of plankton). The good rainfall from El Nino makes the coastal
Peruvian desert green and there is rich harvest of cotton, coconut and bananas. The
strong El Nino gives four to six times more rainfall than the normal amount to the
tropical eastern Pacific area but dry conditions prevail in the tropical western Pacific
resulting in severe drought in Indonesia, Bangladesh, India, ete. The widespread fire in
the forests of Indonesia in 1997 — 98 was related to drought resulting from a strong
El Nino event.

La Nina is a cold ocean current that flows in the Pacific Ocean which is the
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In which countries did severe drought occur due to El Nino ?

(a) Indonesia

(b) Peru

(c) Bangladesh

@ India

Answer Options :

1) (a), b @ (b))
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El Nino is called Christ’s child because .
(1) it occurs after Christmas (2) it occurs before Christmas
(3) it occurs during crop harvest - (4) it occurs along a warm current
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(1) JCER AT oq2) s vam

‘_/(meﬁ* DQQ W o

The marine life is destroyed on the Peruvian coast due to

(1) Warm current (2) Cold current
(3) Strong El Nino (4) Strong La Nina
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Read the following passage and answer the questions 16 to 20,
Women and Natural Resources

Probably no other group is more affected by environmental destruction than
poor village women. Every dawn brings with it a long march in search of fuel, fodder
and water. It does not matter if the women are old, young or pregnant; crucial
household needs have to be met day after weary day. As ecological conditions worsen,
the long march becomes even longer and more tiresome. Caught between poverty and

environmental destruction, poor rural women in India could well be reaching the limits
of physical endurance.

Biomass plays a crucial role in meeting daily survival needs in the vast majority
of the rural households in the country : food, fish, fuel (firewood, crop wastes and
cowdung, organic manure, green mulch and forest litter), building materials (timber
and thatch) and medicines (herbs), are all different forms of biomass. Water is another
crucial element in human survival and its availability is definitely related to biomass
in a country where rain falls only four months in the year. When the biomass in the
surrounding environment disappears, water sources like streams and ponds also tend
to disappear soon after the monsoon. An important aspect of this biomass-based
subsistence economy is that it is monthly non-monetized. Water, fuel, fodder, building
materials and even food to a certain extent are all gathered freely from the immediate
environment. Production and processing of biomass agriculture, forestry and village
crafts based on biomass as raw materials are also the biggest sources of employment.

Unfortunately industrialization, urbanization and the advance of the cash
economy have greatly affected the country’s biomass base. The destruction of biomass
with deforestation and devegetation and its transformation away from rural and
household needs and towards urban and industrial needs (planting of teak or
eucalyptus in place of sal or other natural vegetation, for instance) is having a major
impact on the lives of all those who live within, the non-monetized biomass-based
mﬁmmy.wdcu]mmmmofmwamdnomdsmtheﬁmm
face total social destruction, But women, not only within these cultures but in all rural

cultures, face the maximum threat.
mmﬁwmswmfm—mmmmm
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P 1s more affected by environmental destruction ?
(1) Urban women group (2) Village women group
(3) Village poor women group (4) Urban poor women group
\ ; ® " QWIS AT qeten wMifEa Hid e 2
(1) afefireremo (2) AT
(3) T@ anfdsar ( UHET AT
Which factor does not affect the country’d biomass base ?
(1) Industrialization ' (2) Urbanization
( Cash Economy (4) None of the above
HIVT FHRE T 16 A= QAT HTAT 2
(1) anfEamdt a e st ,m/nﬂw ot
) wforfarm i o wepfa
ich type of people face social destruction ?
(1) Aboriginal and nomadic tribes (2) Poor women
) Illiterate groups (4) Rural culture

(3) v HEcaE -]
4) =T QTHi 9T wEeTE AT
m the role of biomass of the rural households in the country.
(1) Biomass plays a crucial role
(2) Water is one of the biomass
irewood plays an important role
Biomass is not important in rural households
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3 5.
Read the following passage and answer the questions 21 to 2

Forest Policy and Impact

Ir-l her book Ecology and the Politics of Survival, Vandana Shiva '1991'1 argues
that tr.opical forest resources are undergoing the world's most severe ecological and
economic crisis. The food security of the entire world depends upon linkages between
the ecological stability and the economic well-being of the majority of the world’s people
who live in the tropics or the Third World.

Shiva explains the crisis of tropical forestry in the light of the conflicting
demands for biomass by the three fundamental economies associated with forests :

1. Nature's economy of essential ecological processes.
2. The survival economy of basic needs satisfaction for people.
3. The market economy of industrial-commercial demands.

Nature’s economy of essential ecological processes generates a demand on the
products of the forest in terms of the maintenance of soil systems and the hydrological
balance of the forest ecosystems. The survival economy of basic needs satisfaction
reflects the requirement of forest biomass (wood fuel, fodder, fruits, nuts, green
manure, small timber, etc.) by people living in and around forests. The market economy
of industrial-commercial demand converts forest biomass into items of the formal
market economy, such as pulpwood, plywood, furniture, housing timber, wood fuel, ete.,
for the urban market. Nature’s economy and survival economy have always overlapped
in India. They functioned simultaneously without conflict as the survival needs of local
people were satisfied through conservation-oriented utilization

The colonial rule introduced dramatic breaks in usage. The former perception of
the multiple functions of a forest ecosystem was replaced with a one-dimensional
scientific forestry whose only objective was maximizing production of commercially
valuable timber, Market logging eliminated the utilization of forest resources for
ecological or economic objectives, Post-colonial forest policy further aggravated
utilization conflicts and forest degradation. The system of clear-cutting (with artificial
regeneration) was adopted. Shiva concludes that converting natural forests to
pulpwood Phn'ﬂ-iom further eroded hiomass needed for fuel, fodder, fertilizers, ete.
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According to the given passage, food security depends on
(a) food production
(b) ecological stability
(c) monsoon
CY economic welfare of the people living in tropical region

Answer Options :
(1) Only(a) . (2) Only (b) and (¢)
(3) Only(b)and(d) B (4) Only (a) and (d)
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What are the effects of colonialism ?

(a) Forests considered only for market benefits

(b) Conflicts generated due to forest wealth

(e) Monoculture objectives of forestry were implemented
(d) Loss of biodiversity in the forests

Answer Options :
(1) Only(a) (2) Only (d)
) Only (a), (b) and (c) (4) All of the above
et HeEd] wean H IR 2
qafaTorE §1F 9 gedl aAEad

(2) T vafagL g g et S
oL st segsttin stz
d\m uHE YHERSA EATEE 6Tae

What is the central idea of this passage ?

(1) Environmental degradation and reduction in forest wealth

(2) Wrong environment policy and reduction in forest wealth

() Place of forests in Indian culture
(4) Benefits of monoculture tree plantation

-
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UFU A FITH ftem = v wearden g3 wfeEmm

TV S G SRR 4@ & &1 ad FEE 9 i gEardiEn uge §an 9 sifew ugw @an
HETE A, e wen fhdf sweh @ @ @ faum s s, “9m T sen e #e
mﬁmmmmﬂwmmqﬂammwﬁ&nﬁmm.mwmﬂﬁww
gAfdafa . ww awqEn qan F Al W gE=n gEE w9 ded EA.” @me w1 fag
YETuHT 2@ WA Ad), W AN A At wiell a ol ATEgEta) uge Han w1 e
HETAHATEA] U FaTgasE swar. w1 faga ausvgmardl dgdhiga aneen MR sgwm faEmma
CEZ

SRl my FEHET M my, TGRS ghigd HwE T@, doE vy AT g8 A fen ogm
Ham myv; BAl. Mefl Igavargdi dgs anfo Wl feen smea grandEl qan Y SEA 3 TE A
I . e Iefearm deie afie Frmmmm vge i g sEd. st M g2 A
ag® Avred fIR WA, @ e SfET (Recoil) VA, Wg% WfAE AT (vy) N g
Hwd, #l

myvy + mpvp = 0.
Read the following passage and answer the questions 26 to 30.

Momentum (P)

Momentum is the product of mass and velocity of an object. P = mv. The rate of
change of momentum is proportional to the applied force and the change of momentum
occurs in the direction of the force. Momentum has magnitude as well as direction. Its

direction is the same as that of velocity.
Suppose an object of mass ‘m’ has an initial velocity ‘u’. When a force F’ is
applied in the direction of its velocity for time ‘", its velocity becomes v'.
-, the initial momentum of the object = mu,
Its final momentum after time, 't is mv

Change in momentum
= Rate of change of Momentum = T
: ¢ ol = ; mv-mu _ mv-u)
" . Rate of change of Momentum = - = = ma

& o e . - =
I L 1L TSR T

ceording to Newton's second law of motion, the rate of change of momentum is
T Sl & LA el }
' ant of proportionality and its valueis 1)

0«
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Law of Conservation of Momentum :

Suppose an object A has mass m, and its initial velocity
mass my and initial velocity uy. According to the formula for mom
momentum of A is myu, and that of B is mpuy. Suppose these two 0
the force on A due to B be Fy. This force will cause acceleration in A an

will become v.
. Momentum of A after collision = m;vy

Awordmg to Newton’s third law of motion, A also exerts an equal force on B, but
in the opposite direction. This will cause a change in the momentum of B. If its velocity
after collision is vy, the momentum of B after collision = mgvy. If Fy is the force that

is uy. An object B has
entum, the initial
bjects collide. Let
d its velocity

acts on object B,
Fo=-F,.
myag = — m,a, ... as, F = ma
iy (vg ;“2) T (v, ;ul) B s O ;u)

2. mglvg — ug) = — my(vy —uy)

e ma?g = mzuz =-myVvy + myuy

<o MgVe + MVy = MUy + Moly
The magnitude of total final momentum = The magnitude of total initial momentum

Thus, if no external force is acting on two objects, then their total initial
momentum is equal to their total final momentum. This statement is true for any
number of objects. “When no external force acts on two interacting objects, their total
momentum remains constant. This is a corollary to Newton’s third law of motion. The
momentum is unchanged after the collision. The momentum gets redistributed
between the colliding objects. “The momentum of one of the objects decreases while

‘that of the other increases.” Thus, we can also state this corollary as follows. “When
ﬁ“ﬂhtbﬁhﬁlmtnmhefnmcoﬂmonmequlmthew momentum

'hen a bullet of mass m, is fired from a gun of mass my, its velocity becomes vy,
hmm;vl.ﬂefouﬁnnsthebuﬂehmmmandthohﬂd
mmmummw above law,
hhm'lhm.thaww t causes
H,wau imm s r'f*rhr 1 )
-lI 1 J‘ ) i

M |
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26. ZH THA FGIA FTFR 200 gm AN 300 gm ¥GF A wHE A 3 v 203 8 mss A
4 m/s AT T ATRA. T T A q A FeAE qfEAl 9 5 m/s 93 fAEE #A

-

THH HIEATET HA G 97 Fe
(1) 06m/s (2) 60 m/s
(3) 6m/s (4) afasd vwd F8

Two objects having masses 200 gm and 300 gm, are moving along the same line in
the same direction with velocities 8 m/s and 4 m/s, respectively. After the collision of
the two objects, the first object moves with a velocity of 5 m/s. After collision, the

velocity of the other object is :
(1) 06m/s (2) 60m/s
(3) 6m/s (4) None of the above

97. oW S WER R Al SmAR /i 3 FH AT A FEE T8, @ e 0 54,

(1) &= geardi=ar amal Haegs s

(2) e T

(3) amat
(4) == E=

o mw objects are mtaracung without external force, their total momentum
(1) depends on the initial velocities of the objects
- ﬁf- S L W |
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| FrmEm, A “mﬁwﬂsﬁﬂn _
| (2) s s v i s
| ni wakl (B)) mmwﬁiﬁm
) g R

'iﬁpmamﬁmmmlmdmg;respecﬁvély:ME“Nmn's
 third law of motion, the force exerted by A on B is :

T mreets | ’
B>
iRy Pom 'u»,
) W=y gsuy Iy _
o — -
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Read the following passage and answer the

Mineral Nutrition

rtance in the biosphere as well as in tl.w
s which remain
lants and

questions 31 to 35.

Mineral nutrition is of unique impo
affairs of man. All organisms consist of atoms of chemical element

preserved in the rock, the oceans and the atmosphere. Only the green p ‘
simple inorganic compounds and ions

certain microorganisms can primarily extract
g organisms. These

from the environment without being dependent on other livin
inorganic requirements are minerals and are called mineral nutrients. An element 1s
considered as essential, if without it the plant cannot complete its life cycle and no

element can be replaced by any other element.

The elements known to be essential for higher plants are oxygen, carbon,
hydrogen, nitrogen, potassium, calcium, magnesium, iron, boron and chlorine. The
elements which are required comparatively in greater amounts are termed as
macroelements and the elements which are of very small requirements are termed as
micronutrients. The mineral elements may be detected by plant analysis, solution
culture or hydroponics and solid-medium culture.

Plant analysis is of two types, wet digestion and ash analysis. The essential
elements perform many functions in plant life. Carbon, hydrogen and oxygen are the
framework elements. Nitrogen is a constituent of many important biomolecules like
protein, DNA, RNA, Chlorophyll, NAD*, NADP*, FAD, etc. Phosphorus is an important
constituent of nucleic acid, phospholipids, etc. Potassium is required in high amounts
by plants for normal growth as it provides the necessary ionic environment for the
proteins inside the plant cell. Calcium functions both as a structural component and as

a cofactor for many enzymes.
Magnesium, like calcium, also serves as a structural component and is evolved

as a cofactor in many enzymatic transfer reactions. It is a component of the chlorophyll
structure. It is required to maintain the structural integrity of ribosomes and

chromatin fibres.

Being a constituent of certain amino acids like cystein, cystein and methionine,
sulphur participates in protein structure, Iron performs a number of important
functions in the overall plant metabolism, Manganese plays an important role in
photosynthesis, Boron is essential for sugar transport. It is also concerned with the cell
wall metabolism and pollen grain germination. Molybdenum is important in nitrogen
metabolism.

HOEY] HTHTATS! AT / SPACE FOR ROUGH WORK
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(1 e F ymna evrar

2 = | YHITE AT
ﬁ S WHIOITE AT

(4)  atedd Foad T

What are macroelements ?

(1) Elements required in small amounts

(2)  Elements required in equal amounts

(3)  Elements required in large amounts
(4) None of the above

< e
32. Wmmmmmmmm?
refiram

(b) amiq
() ¥ (d) i
Fttetehl wvR faum/faum s s/ 2
it 3= ;
\J/: (a) (2) e (a) 30T (b)
(3) %F (c) (4) % (d)
Which element is required in higher amounts for normal plant growth ?
(a) Potassium (b) Boron
(¢) Chlorine | (d) Magnesium
Which of the statements given above is/are correct ?
Answer Options :
(1) Only (a) (2) Only (a) and (b)
3) Only(c) (4) Only (d) oo
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‘y/amﬁnﬁmmsgﬁémaﬁmmm?
' (a) Hfawmm (b) ¥R

(c) T (d) wafIEw
Hrd faurm/faum sty ame/ame ?

qardt 3w ;

(1) (a) (2) & (a) 3001 (b)
\p’g (c) (4) & (c) 3T (d)

In plants which element is essential for sugar transport ?

(a) Calcium (b) Iron

(c) Boron (d) Magnesium

Which of the statements given above is/are correct ?

Answer Options :
(1) Only (a) (2) Only (a) and (b)
(3)  Only (¢c) (4) Only (c) and (d)

35. FHI[] FCEAET TR To HE 2
FERIE
(b) ARG Hefaifersm
(e) W9 HyeHU|
(d) HrE TEgH
it @i faum/faus et s/ 2
ggidt 39 ;
(1) % (a) (2) & (b)
(3) a4 (b) 3for (c) (4) & (c) 1fir (d)

Magnesium is essential for which structure?
(a) Chlorophyll

(b) Nitrogen metabolism

(¢) Photosynthesis

(d) Sugar transport
Which of the statements given above is/are correct ?

Answer Options :
(1) Only (a) (2) Only (b)
(3)  Only (b) and (¢) (4) Only (¢) and (d)

Foe] BIHTAIS AT | SPACE FOR ROUGH WORK
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Read the following passage and answer the questions 36 to 40.

. ; . 23 A
When uranium 150tope-235 is bombarded with slow neutrons, 293U15 formed by
capturing a neutron. The d 0 being unstable, breaks into two fragments besides

: 92 . 94 1
releasing two or more n 236 ] 236 140 Kr +2 n,
g eutrons 9,‘!U + §0 = 92[} - 5I3Bl?n + a8 0

The above is a typical fission reaction. During a nuclear fission, a large amount
of energy is released due to mass defect, i.e., the sum of masses of the two fragments
and the neutrons set free, is less than the sum of the (given) masses of the reactants.
This mass defect, for g particular amount, in uranium fission is of the order of
0-2 a.m.u. which corresponds to the production of 186 million electron volts (MeV) per
uranium atom fissioning or about 43 x 10° k cal per mole (235 g) of uranium atoms
fissioning.

The fission process is complicated. Over thirty pairs are known. Let us now
consider the most famous nuclear fission, that of 232!.,7 brought about by neutron
capture. Although this fission process occurs in a large number of ways, in each case a

large amount of energy is released and more than one secondary neutron emitted.
2?;2’U + ;n — 2:;ZU - ggRb + 1;;05 +2 [l)n.
Two neutrons are emitted for every neutron that initiates the fission process.
The neutron emitted during fission may be further absorbed by other EgZU nuclei thus
causing further fission and emission of more neutrons. In this way, a chain reaction
starts releasing tremendous amounts of energy. However, if the amount of QEEU is
small, most of the neutrons will escape from the surface and the reactions will stop.
Therefore, a critical mass of metallic uranium is necessary in order to start and sustain
a chain reaction. The critical mass of 2:;‘;U has been found to be between one to
hundred kg.
The basic principle of atomic bomb is the chain reaction. At the time of
explosion, the two radioactive samples of each subcritical mass, but whose total mass
s the critical mass, are brought together by the use of ordinary explosives. Once
these subcritical masses come together, a chain reaction starts releasing a large
amount of energy. \
The principle underlying such nuclear fission has also been employed. in
harnessing vast amounts of energy in nuclear reactors. In these react.ors. the fission
reaction is made to occur at controlled rate. Essentially, a reactor consists of 1uﬂlpﬂ of
from each other by blocks of graphite or heavy water (neutron
92 “P'"“d | : lling the chain reaction. The
moderators) which by slowing the neutrons, help in controlling
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- (a) mma@qﬁ_—'—-—""—

(b)) IURR FEgEw

(e mmmm

% @ s 6w s ae
ot I

* (D FE (a) 3 () (2) % (b)

X @ W@ : (4) () 3PN (d)

~ In fission processes, the amount of energy released depends on which of the following

¢ w?

(a) 'Ihemaasofthemactant

(b) The mass of the product

(c) _‘ The mass of the reactant and product

(d) The loss in mass during fission

(1) Only(a)and(c) (2) Only (b)

bnix(d) (4) Only (a) and (d)

. ' ( we) § 1 AT Sl ?

39t amafavarard
< St B TN AT W S, S T S

‘" [ ,L—Ar-".

;:--'

. ()
" ®
A w @ (4) (a), (b) 3nfn ()
(3) '
L tor (heavy water) used ?

yr reactors, why is modera
ﬂﬂl the nuclear reactor

ul’am the energy of neutrons
e, ! !mwmdhmthespoedofneutronsothntitslowadownand

£ &

(2) Only (c)
(4) (a), (b) and (c)

=— 1 | SPACE FOR ROUGH WORK , PTO.
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38. wrefte altafeua sififan gl &0
235 I O 1
92“ o™ B4 Xe + :er +4 o"
(b) x=139,y=93

(a) x=141 y=91
(d) x=139,y=095

(¢) x=141,y=93

Wf'ﬁ!\‘ﬁ:
(1) % (b) snfor (d)
(3) w4 (a) 30191 (b)

(2) % (a) A (c)
(4) %ad (c) 3fon (d)

Complete the following hypothetical reaction :

235 1
92U * o

(a) x=141,y=91
(¢) x=141,y=93
Answer Options :

(1) Only (b) and (d)
(3) Only (a) and (b)

39. WMWMWMWMWMW?
(a) mmmmwﬁmm
(b) o gom=n varafen gevmmes =i TrETen B SEe SamEE
(c) @ﬁwmmmmﬁ%m@ﬁaﬁra@m
(d) fawes #vm=n vzafean gevmmEs i watia AvamE

n — B:Xe + 3:81' + 4 [I]n
(b) x=139,y=93

(d) x=139,y=95

(2) Only (a) and (¢)
(4)  Only (¢c) and (d)

ggtdt 39 ;
(1) % (d) (2) e (a) 31O (b)
(3) & (c) 3o (d) (4) %ad (c)

For the chain reaction, why is it necessary to have critical mass ?
(a)  For neutrons to escape from the surface of the fission material
(b)  For neutrons to scatter from the surface of the fission material
(e)  To capture neutrons to start and sustain the fission reaction
(d)  For neutrons to reflect from the surface of the fission material

Answer Options :
(
1) Onlyd) (2)  Only (a) and (b)
(3)  Only (¢) and (d) (4)  Only (¢)
___-_________._-

mmm:nmmmnmx
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Read the following passage carefully and answer the questions 46 to 50.

Among the natural resources that can be called upon in “at’mn{ﬂh[;lans ,ﬂ:r
development, possibly the most important is human labour. Since the English language
suffers from a certain weakness in its ability to describe groups composed of both ma'n]e
and female members, this is usually described as manpower. Without a productive
labour force, including effective leadership and intelligent middle management, no
amount of foreign assistance or natural wealth can ensure successful development ar?d
modernisation. The manpower for development during the next quarter century will
come from the world’s present population of infants, children and adolescents. But.we
are not sure that they will be equal to the task. Will they have the health, the education,
the skills, the socio-cultural attitudes essential for the responsibilities of development ?

For far too many of them the answer is no. The reason is basic. A child’s most
critical years, with regard to physical, intellectual, social and emotional development,
are those before he reaches five years of age. During those critical, formative years he is
cared for almost exclusively by his mother, and in many parts of the world the mother
may not have the capacity to raise a superior child. She is incapable of doing so because
of her own poor health, her ignorance and her lack of status and recognition of social
and legal rights, of economic parity of independence.

One essential factor has been overlooked or ignored. The forgotten factor is the role
of women. Development will be handicapped as long as women remain second-class
citizens, uneducated, without any voice in family or community decisions, without legal
or economic status, married when they are still practically children, and thereafter
producing one baby after another, often only to see half of them die before they reach
school age.

We can enhance development by improving women power, by giving women the
opportunity to develop themselves, Statistics show that the average family size increase
is in inverse ratio to the mother’s years of education. It is lowest among college
graduates, highest among those with only primary school training or no education.
Malnutrition is most frequent in large families, and increases in frequency with each
additional sibling.
The principle seems established that an educated mother has healthier and more
telligent children, and that this is related to the fact that she has fewer children. The
tendency of educated, upper-class mothers to have fewer children operates even without
access to contraceptive services.

The educational level of women is significant also because it has a direct influence
upon their chances of employment, and the number of employed women in a country's
total labour force has a direct bearing on both the Gross National Product and the
disposable income of the individual family. Disposable income, especially in the hands of
women, influences food purchasing and therefore the nutritional status of the family,
The fact that this additional income derives from the paid employment of women
provides a logical incentive to restrict the size of the family.

ee SHTETE ST | SPACE FOR ROUGH WORK
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46.  Choose the correct antonym from the options given.
“Termagant”
(1) Charming (2)  Turbulent
(3) Brawling (4) Shrewish

47. Without a productive labour force, including effective leadership and intelligent
- middle management,

(1) no productive work is poaslble
(2) entrepreneurs will incur heavy losses
(3) economic development will not keep pace with national movements

(4) no amount of foreign assistance or natural wealth can ensure successful
development and modernisation

~ 48.  Manpower development during the next quarter century
-' - (1) will be adversely affected by the threat of war
- (2) will come from the world’s present population of infants, children and
o " Aty el ﬂdﬂlmtﬁ
n,ﬂi will be well taken care of by the current emphasis of free education for women

'ﬁ (4) will be adversely affected by the country’s economic losses and political
~instability

'_ - of the world’s present population of infants, children and adolescents will
t have the health, the education, the skills, the socio-cultural attitudes
ial for the responsibilities of development.

ng countries they are third-rate citizens,

lect the word closest in meaning to the underlined
hs =|I'._I . . “n
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Bl. @ a fagem fafaw sfim wamidh g frag 48 sne foewn qRwdwn Wk
36 faeneatfl fiveg e saua aae. seie gem) srvieren e @5 A0 29 Heffe

el
naﬁfﬁqq'hmm%qmmamﬁ. Q@ _______’-SG

alte mifteftem wewla am qwad faum faz A

\f\,-( (1) = wda yermien 12 qeft sma sRa.

(2) &l wmwdta acen van e den w49 e, @ A Madle geffh wen
ffaau gemian 143 s s, -~ -y, |

{a}\mmﬁama@rmﬂ. 3 QL

4) S wwdfa daeen g e e s 51 , AT w WSAE JeArl "
fafeaaa 13 s@da.

f‘ﬂl 36 pupils of the Zilla Parishad School planted in all 48 plants, a mixture of
Jambhul and chiku varieties, in their locality. Every boy planted three jambhul
vanetl_es and the each group of two girls planted one chiku variety between them.

Select the statement that is not true with respect to the above information.

(1) There are 12 more girls than boys in this school.

(2) If the total number of plants planted is 49, then the number of girls in this
school is definitely 14, with respect to the above case.

(3) There are 14 boys in this school.
(4) If the total number of plants planted is 51, then the number of boys in this
school is definitely 13, with respect to the above case.

‘)(r W 357+25+ A HGAS 3 N5 T W AA, T ATHEN U q BAR w4, I siwrd
m\'
(174
O~ 0,4 v @) 5,4
(85,6 oL 0.6
If the number 367+25+ is divisible by both 3 and 5, then select the appropriate pair
of digits ilJll units and thousandth place respectively.

(2) 65,4
' 4) 0,6

¢ .1 b4
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wﬁvﬁﬁwmwwmwm? s
\1_11 mmwmmwmwmm
amea.

A2 WO WA anidren 3 Wi #Erl aEa HEd,  FE d@ d
m;wmmmm;mmmmﬂmm.

(3) AT S wfEm snfn Sawn o wfiae @1 3 A vee gdAEE AREE 29
ATEN,

J\[-ﬂ HIUT Wi Hd Jd-Te TIsTentu] ATea) Saeh-UiaaTe ad-area ST FaT 5.

During the discussion one speaker said, “As claimed by some researchers, it is not
reasonable to attribute complex reasoning ability to reptiles on the basis of simple
stimulus-response explanations of some reptiles’ behaviours like searching prey,
caring for their eggs and engaging in various other life processes. But since, as
observed during experiments, reptiles are not capable of making changes in their
behaviour when they are made to face major changes in their surroundings, this
leads one to conclude that reptiles are not capable of complex reasoning.”
Which one of the following is an assumption required by the speaker’s conclusion ?

(1) In comparison with their behaviour in laboratory experiments

i reptiles’
behaviour appears to be more complex in their natural environment,

(2) If reptiles were capable of com
capability of altering their beha
habitat,

plex reasoning, then they would exhibit
viour as per the changes in their natural

(3)  Complex reasoning and responses to stimuli cannot both contribute to the same
behaviour,

(4) Al reptiles' behaviour can be explained on the basis of simple
‘stimulus-responges,
e ——
e TS AT | SPACE FOR ROUGH WORK
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56. 9O Aftkar semm snfn e fidew wataign e wata w@wE Wi SRR ShE
HFA Yftrarg Faer,
Wmmﬁi@mmmw#ﬁamm
YAiEORRE FrewiEm s v s, m sfuEen FedEE A e 3w e
(1) Qﬂﬁmlﬁmmmmmﬁmﬁmﬂmmm.mg}m

et 3w & e BId STHeAeS HHiier H1U v T,

(2) W T o sme ® wedt frevmd fof @ meva mw swa, W g
femdielier s mravara vl el e, @@ qeed @edtE s AT T
V}a) YA dhurha fa] @ 99 IS R w0 weewhd FH 20 ge Aty F a,
(4) TuEa dHwgA A wrwl) dFwga F fuman ey sma. FEEd dHen T=2 OES
&1 o oA s et TR A o wArd arEd s fen g e
w9 e ad o,

Study the following argument and then choose from the options given, the argument
that most closely parallels the reasoning of it.
The farmer’s family had an option of planting gram or soyabeans. Last year gram
received a better market price as compared to soyabeans. But in order to ensure high
yields, quality organic fertilisers and eco-friendly pest controlling inputs are
required for gram. Since they could not get credit required for this additional care, in
spite of the crop being likely to earn less profit, the family planted soyabeans.
(1) In order to go on excursion for collecting field data, the learners need to raise
enough money. It is impossible for them to raise the sufficient funds, therefore
- they are unlikely to go on excursion.
(2) For securing promotion, one needs to meet sales targets if one is working as the
| rson. If one is successful in meeting the last quarter’s target, then one

to exchange currency through bank or for poorer
the hotel where they stay. There was not sufficient

hld to use the hotel for exchange.
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56. ﬁaqamaﬂammmmﬂwwmm R %‘@WW
mﬁﬁﬁ’mmﬁﬁmaﬁmaﬁmm.wmm )
T T T A e AT AT, S i a1 ST A1Esc. .
S ST AfreRETd 7 A agAvagd drd e FaEe S HIgT I A
fem T A TN W e, S o R ey e wn S w
“Irwrar” A @ fiedta @8 e sy S A . _
mmm@m@mmmﬁmmmlﬂmm
(1) = S SEuET o 3= g drg faen sfaamard @med e od @

a wren a1 faen 3= wgeH (performance) F0IE WEd Fd. g

(8) HH=A AHAIG I UHOA BN ATE Wt SR faudta g . ‘
(4) SIHE SR HHeATE 4 @R sqerea] S SEEEE 39 YHIE J1e .
Scientists at the Berlin's Institute of Pharmacy have recommended that
Ecdysterone, a hormone found in spinach, be included in the list of prohibited
substances for athletes. Scientists conducted a study for testing their hypothesis,
‘there would be an increase in performance of athletes.” They found, ‘significantly
higher increase in muscle mass observed in those participants who were dosed with
Ecdysterone.’
Popeye was definitely into something when be ripped open cans of spinach before
beating the bad guys for his beloved Olive. Now, scientists in Germany say that the
cartoon character may well have been “doping” to get his superhuman strength.

Select the most of appropriate reason for recommending prohibition on the use of

Ecdysterone for athletes.

(1) Higher increase in muscle mass gives a person superhuman strength that helps
him or her to give the best performance.

(2) Eedysterone, as it increases muscle mass, serves as a dope and any kind of
doping is banned for athletes. .

(3) Higher increase in muscle power causes adverse effects on athlete's health.

(4) Spinach eating causes increase in muscle mass of the person due to

Ecdysterone present in it.
57. @ 28 Sgarfl, 2018 U w9 wen. @ faen 22em afanren fawh wva an A 2
(1) wmean (2) #Hwan (3) 9yan (4) wgFan
Sanvi was born on 28" February, 2018. Then on which day will her 22" birthday
(1) Tuesday  (2) Monday (3) Wednesday  (4) Friday

Feea HEIATE ST / SPACE FOR ROUGH WORK
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58 Am_meaa;ﬁwmmﬁaamﬁww.ﬂmﬁmmmw
wefl, T M feawm B o1 wm de@ et i 3w wm A 3 gl Ha 7 wm fd)

femame i w1 2
(1) 8fea= /cz/mfzaa 16
(3) 12w 4) 15 fzam

A and B can complete a work in 15 days and 10 days respectively. They started doing
thé work together, but after 2 days B had to leave and A alone completed the

remaining work. In how many days was the work completed A
(1) 8days (2) 10 days £ \° O
(3) 12days (4) 15 days \ =
SV
/mmamwm.ﬁmﬁmmwmmm: |
(a) @d T 3= wTAEAE AfaER FvarE g i . 4,4
(b) SRGfE ve wone Fege qEes, et faand, agm@mﬁﬁaﬁﬁf-w T
(c) haa TRl TV g HelAeiier SEA. {f’ Ve _‘H‘f
vt T4 |/ \ /
(1) =9 TRS THfaET GHa SAEea] sq! N FvAT I 7E [ <I ) ‘ﬂ}._%“
A2) Tae faud 3= TA@ TR aw vl F . \\ (/)
p%s) et fardi wafaas A FAm. i A
4) U ATE g
Study the statements given below and select the correct conclusion based on these,
~ that follow :

(a) All mathematicians exhibit an ability to do high level logical thinking.

(b) Self-learning students, who are not the product of traditional school system,
are usually found to be highly creative.

(¢) Only some of the mathematicians are highly creative.

ﬂﬂﬂ'ﬁﬁh’m high level logical thinking ability.
eldom become mathematicians.
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0 [ ]
- 0
gatdt 39
o) ® O
(1) -3 (2) o]
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(3) ™ (4) s
S ”

Find the dot design of accompanying tiles and select the appropriate part of it from
the given options.

e ®@® OO

L]
[e]

Answer options :

(1) L] (2) o)

N =, CRE—

aree] WETETA AT [ SPACE FOR ROUGH WORK

— T —
— . e S N . Coe—
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3 b FVAEIS I fassavard @evz 3 s Fas weavm v antE s
TrAT. H Aty e enndten qmREd wdn fam w3 s @ e e
15% weefl. st wem ares 5t FogmE s g fam sfius wes FEen za.

afie FFamardie I8 qrEed 2om 3faq vafa fae.

(1) & gfwar s sEeEs SHaemEre g,

(2) A= gemes srdi s @ ofifeud sma s v nfidad s
Mﬂammaﬂmmwmm

(4) ™ FAETEF ARG FE qHA A1 2.

Read the following argument and select the best statement that points out the flaw

in the argument from given options.

Many people think that welfare benefits  create a culture of dependency and an

unproductive workforce. Many people solely depend on welfare benefits without
-—n_uking any efforts to earn their living. Few years back the government introduced

tough eligibility rules fm welfare benefits and the number of recipients has

now fallen by 15%. The government should therefore tighten eligibility rules to

further reduce the number of welfare beneficiaries.

 Select the statement that points out the flaw in the argument from the given

ates beneficiaries with unproductive workforce.
 tha I:Mﬂﬁﬁ are responsible for their situation.

ipathise with beneficiaries facing adversities,

P.T.O.

o
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(1)

(3)

A bag contains 3 white, 2 blue and 5 red balls. One ball i

48

(2)

o | ks

| —

5

A dg wRd. W AgeH

3

D

qﬁﬂﬁﬁﬂﬂﬂ‘ﬁl‘ﬁm

-
" \ 0

is drawn at random from the

bag. What is the probability that the ball drawn is not red ?

(1)

(3)

(2)

RS

(4)

| =

._3_
10

B3| -

C # @awa F, D 311 G a1 aumediea zfuoen aasht M. C 3 A 41 qEmEdt =1 qden
wﬁwwﬁawﬁlBtﬁmﬂCmAWqﬁaﬁwmﬁm A 3rfor B &1 a&EmEdt C 4

FETEATE Zfeven aEeea R
(1) B # J8m®a E 31 agmedrea) qden a@ete 3R,
(2) G # aaTEa A 91 aETEdTSAT UfTEHe SHc AR,

(3)
(4)

G # g|TEa B 41 aETEdT=A] Il g AR,

E # aamga D 71 a@medred Ziauen aaee R,

Study the information and select the definitely true statement with respect to it

I‘l

Colony C is located to the south of colonies F, D and G. Colonies C and A are located
to the east of E and colony B is located to the west of colonies C and A. Colonies A

and B are located to the south of C.

(1)
(2)
(3)
(4)

Colony B is located to the east of colony E.

Colony G is located to the west of colony A.

Colony G is located to the north of colony B.

Colony E is located to the south of colony D,

aeeq] HIETATA! G | SPACE FOR ROUGH WORK
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Al 25 T FEAA 5 7N 1 5 9 AT FA Tl FAa HRA. MBS FEA A HA
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qerft savaE Yad B e BE v A, A walwTen Fard men qnE FvaEE

T YEHR Emawde partdt 3§ faen faeh. o L L3
i e el i e et o i wom wata fram,
(1 13 @) 12 Ao 'k
3 8 @) R hT

5 children are collecting flowers in the garden for making 5 garlands using
25 flowers each. They decided that at the end of the collecting time, they are going to
ensure that they all have equal number of flowers. Four of them are only 2 short of
| making their garland as was decided and the youngest child was not able to collect
- - the required number of flowers. So each of the others gave 3 flowers from their
collection in order to equalise the number of flowers.
R Choose the option that indicates the number of flowers that the youngest child had
~ collected.

o 13 @) 12

3 8 ' (4) None of the above =

|

E
'Mm«x':mirauﬂmiw 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 15,
et 18 A s daelt, @ Ao WA Y . X sl Y A @b e 2
1

(2) 27
) (4) 29

 of the data 13, 8, 15, 14,17, 9, 14, 16, 13, 17, 14, 15, 16, 15, 14.
then median of the data is Y". What is the sum of values of X’

(@2 27
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66. @mmmmmmm.mmwm=m
SqaTz AT I aa feren s afua fem S TS
napu pelkeui = The girl is coming from the hut,
napu tipkeu = The dog is going to the hut.
lam mirkeui = The farmer is walking from the field.
dow] pelkeu = The girl is running to the meadow.
“The dog is walking to the meadow” & 1 ¥Iid & o qara fAEE.
(1) dowl tipkeu

(2) dowl tipkeui 0\

.j- ‘ - £ B3

mltwo assumptions that : there are no exceptions to the rule, and only those rules
apply which may be derived from the given expressions.

;ﬁhniu'rhegirl is coming from the hut.

na pkeu = The dog is going to the hut.
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67. wtwadl ey, D, W @ el moan wm deont e zrgaeh 39 s s,
fedtem s s wen sEER 61, 65, 73 69 WM IR, waw W arer=n fraeatdh

e fam\
%
e LIy

6 6 2 |12 |

5 8 12

4 11 14 B _4 y
1 19

- 2 9 \ Y

3 8

1

i i f students who
~ Study the accompanying Venn diagram that shows the nun?her o
: speak four languages namely; Telugu, Hindi, Marathi and Gujarati. The number of
b students who speak the given languages is 61, 65, 73 and 69 respectively. Select the
w;;mnber of students who speak Marathi only.
Telugu Hindi

*

P.T.O.
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qear well, e 6 FAR 70 deam, AR 105 Fda@ s fEAE 175 &eamd
fodt foret @@ qran wrfues fageae wedie ? ; g( &'\

(1) 17fa. 34. \ﬁ\

\ = |

XG_ L~

(2) 34f 303, | /W/( \ #/,.{r A
3 71f1 304, L XS \ O

/ﬂd'? fir. 303 —

Rina, Tina and Hina are starting at the same time from the same point in the same

direction to run around the circular playground. Rina completes a round ul;
I 70 seconds, Tina in 105 seconds and Hina in 175 seconds. After how much time wi

| they meet again at the starting point ?
\ 0O ;

(1) 17 minutes 3 seconds 0
(2) 34 minutes 30 seconds ,/ N \::\/
(3) 71 minutes 30 seconds )ﬁ

| : "'i:ihmms.onmgzaaﬁmmawwammﬁﬁimw
"'.g,m_mgﬁaﬂmmlo.mmﬁﬁ%.mwmm
rerrevaT ud) 33 B A 2 0 W WA

43

)
'za Ny N H '
: (oo

, at 5.00 a.m. and reaches Delhi at 9.00 a.m. Train ‘N’ leaves
aches Meerut at m;ﬂn‘-@-m.,m what exact time do the two

|ol? |
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U A Awdfe g wwa sl gEt i see sma. v wah @1 agersA 49 S
m'o'tlﬁﬁ memm Z\t =l FdE s et faadt sef Seet SR

Tmmwmmmmmﬂ

X: mﬁm@mﬂ Z e — rll*ﬁ
Y : X aiet . Z Sawh s, g\*‘ P
Z:X g m.mmm. w{") N Q
| Ae —= 5 0
Dku) X gfqet TR = /{ e

o @) Y . d‘t O
\/tm Z dmtt IR, \ §

(4) mmmmm

it ﬂ!m of a certain community are in a habit of answering any question in two
W and one of these is always true and other one is always false. A visitor
N  came across three persons of this community : one of them is a doctor, another one is
Qﬁ mgw and third one is a farmer. Study the reply of these persons to a question
- M profemom and select the true statement from the given options.
Sk E£sal | 22
. mtmwaw Z is not a farmer. l\o{ %
W‘W Z is a farmer. (,0

P.T.O.

oy '
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E'mmmﬁaﬁmmﬂiﬁsiﬂeﬂaﬂ
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ﬁmm.m.mmmammm.wmmmmm
mmmtwmwm.mmmammmm AR,

k\“ mammmmmmmm.
(1) T SEA FoT Ah TE AR
(2) W SEH HOT A T AR

mﬂmmmﬁm.

T S HOTN S T AR,

' ere are equal number of men and women in a family of six. There are two fathers
and two sons. Additional information about these family members is as given below.
Ram is eldest and Nita is youngest of the faﬁ:ilm The farmer is the father of the
,ﬁ d also of the doctor. Nita is Sameer's sister and both are teenagers. Their
a teacher. The only couple in the family is Jayesh and Nadira. Anna is not
ried and i the daughter of Ram.

ect the op ion that describes the relationship between Ram and the writer.

the u band of the person who is the writer.

he brother of the person who is the writer.

B

MR W
e 4

Scanned by CamScanner



D 55 s

@, wen, ', fn @ fen o feft smea 3 = we cren aEwdide and s ga.
A G qew, wre, e, v wnfon den A wwn W awe A, @i o, 9=, a9,
et anfon feda 2 wfed n g Frasar, g2 w7 o @ wafun av faeh s,
form fedtamel gt daeh oo s fha #eren Wz faeh . W gEEed Seren el zm
Fieren et qur we fvan adame A, fran wrewe gftar et wig Reren g e freames
aﬁmm. \J\. \\1"
m@mmﬁamﬁW“‘jﬁﬂ J

. (1) = —_— T |

[ _ "l'-‘ \ !|

. @ = - T

|

|

I . T
&1 (3) 7 o mmmn / i
L L €

@) fazy et T

.jq, thon' colony. They wanted to visit places Shela, Kota, Moha, Heta and
for vacation. They choose to take these holidays in the month of March, June,
ber, November and December. Following are some additional, related facts.
liday in December but did not visit Moha or Heta. Maya went to Shela in
went to Kota but not in March or September. Nia went for holiday in
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T 0 wer favm Rt s e (), (b), (0 0 (d) s amfiEe sEedh faur feh
‘/NT%H lmﬁmmﬁﬁunmﬁ;ammﬁmmwm
AT et vl wan e Fraen

g fafe srite aoa el Trew o s,
(a) T e nfEs. g 0

(b) gweaTHe fafde v,

(¢) T e wifeet A1),
(d) = fafee Foea.
ugidt I
(7,3

Q) (o) 37 (a)
_ o,

@ @3t ) v
2(3)  (d) =for (a)
i&_}ﬁﬁ.(c)

is the main statement that is followed by statements labelled (a), (b), (c)

ot .hudmd pair of statements where the 1% statement implies 2"
: s together are logically consistent with the main statement.

ma only if you have a ticket.

L § * ¥
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A, U WA AR A G e Ftd w0 oAn wEd i, sdeathadd s
wifeedt g2 faeft sme.

(a) =Tl fog stEea O @ M vE wqa sdtE,

(b) A= @A M & T Ush| 9qd FHUIT ATHA. OFP(-\FCLr éTl \}' I

(¢) OFWA R N I+t fag #aft smom 7.

(d) Mamemmw@SMﬁﬁﬂﬂmm- L}

mmmPamﬁnﬁﬁ,mfz@zﬂTuﬂhﬁaﬁ'ﬂﬁﬂ%- |
|:

.‘!l'llflﬂmz w

(1) U =qA 9T = SH0m, \./

.Af N 71 =9 #5281 |, O<
@) Q= w7

: - 40 S=. HEH FHU,
T B | ol A

h“t'l\ma teams are to be compiled from health workers M, N, O, P, Q, R, S and T selected
I from all over the State for executing health related programmes. Each worker will be
" in either of the teams and one of the teams can accommodate at the most five or at
le: Mwnrkﬂu. Given below is some more information about the workers.

) Being best friends O and M would be in the same team.

" Being rivals M and T will not be in the same team.

© ‘Rand N will notbe selcted along with 0.

Q will be selected with M and P but not with S.

' m for a team, then select the true statement from the given

1) HCe

S
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wwm.mmmmmmmmﬂmm
feareh am, -
T g3 9 2
- - ) ity o | FeomafEa ? | fobr
‘20t and 278t Century Literature’ | 1950 — 2020 mh e T
“The Illustrated Guide to Literature | 1900 - 2020 ’"ﬂ : R ¥ 500
Beginners’ Guide to Literature 1850 - 2010 | arét T ¥ 400 | oL
I, Literature For All 1850 - 2000 | 32 e ¥ 550
All About Literature 1800 - 2020 | ame ATE ¥ 600
ﬂs?mm:wm;mmmmw&mmﬁmm
. T=h 209 Fft 7 fashy . ﬁﬁmmﬁmﬁm@' A=
o et T fae
T 9 (2) #50
. T 10 4 ¥ 130 \_/VO
1 k.lhﬂymg literature of the period 1950 - 2010 for ﬁ{ graduation. She
& oy a book to help her with studies. Information about 5 different related
*fm":lvailab]e at the local shop is given below. :
gt Period H P Ry
e _ N ardback 7 Nlustrated 2 Price ?
ot e
o o oatury 1950 -2020 | Yes No %450
™ 1000 2020 No
e 1850-2010 |  No
- 1850 - 2000 Yes
| 1800 - 2020 Yes
Mwithmetcuhmquired
n found that there was a sale
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Decision making and problem solving questions no. 76 - 80.

76,  Fadt 20 wrd #1 Raw wmfaw wmaE fam o amm Fen AL s s et
WU SOATen SfhAarEd AR UATETd) e g TR qRRTEN WeA
Wﬁfmmm&.mﬁammmmﬁ
HATHATE B UAefl. g fafaw anfdier g @eem dem e adw q@ e
sEen Wl g deema dem Ad dien g fawa Gm dde @ s A

WA A B, g

) B FHAA TEEEA AHH| GEAeAIEE AT A ST ek 5 2

grgaam wifedt fafevar faadt soe.
%m%mmmmmmmwwwﬁﬁmm
AT AT W w=a S Fva enetate geanf s faEad s

(8) ¥eAmE M wed Fil HEWPTH  HEMEfATEE doqdl @UEETE WAV e
serdien sera sl seEE v serea sve vl @ v
T3 e wa.

(4) Frftam smenfamr =meEm tF=n SeFn d@wE geaeagEn Fmefl 3 gemwsE
yvEd SEYERE] Jefie w%4 2wl Seam enfas s |=SreEE Jigtad
. -—

Every year 20" March is celebrated as Happiness Day. As the headmistress, you

want to organize celebration of Happiness Day in school to make teachers and

learners aware of process of living happily. You have called a parents-teachers
meeting to get ideas about celebration of Happiness Day. You also talked to children
of different classes and found that adults as well as children have the same ideas

about ‘happiness’. You also talked to the devotees standing in queue for ‘darshan’ of

deities of their choice and you found that they also pray for something that can be
ed with hefty amount. You will

(1) allow teachers and learners to do whatever they enjoy doing at school as

suggested by majority of persons attending the meeting and request each one to

write in brief an account of some instances of happy life that they have

i
:
™~ |

(2) m people whom you have observed living happily while doing their work

‘and leading a simple life and request them to share their ‘happy” experiences

reanize teachers and parents sessions for constructing collaborative ideas

t &' and for assisting teachers to design learning experiences that
ng process enjoyable to each learner.

of a celebrated spiritual personality to make students and

ut eternal happiness as suggested by few persons who
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You are heading a research team in a biotechnical company. You have mooted the

proposal for some special hands-on training in a renowned foreign laboratory. In an
order passed by your immediate supervisory head, three of your team members have
been recommended for this training. You suspect that it is deliberate on part of your
boss with whom you had differences of opinion with respect to another project. As
first point of action you would

(1) use your media contacts, social media and pressurise your boss to recommend
your name for the training.

(2) seek audience from your boss’s superiors and make them aware of injustice
done to you.

(3) speak to your boss for knowing the reason for not recommending your name for

BN And &xpisin. our: point for recommending you for the training if
NEecessary. mning

(4) submit a written complaint to the concerned authorities aboyt thi
18 matter

aree STATATA ST | SPACE FOR ROUGH WORK —_—
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(2) FTATEREA FTIAREE] AT GHEETE S faEden fawmE 9 ode wme
qTeY TN A1 WiEareare we.
Mﬁamm&mmwmmwﬁﬁﬁﬁm
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Hoar faedt afaareamn s,
You are the head of a certain office. The office secretariat is in the charge of allotting
limited number of houses reserved for the office staff and these houses are near the
office. Allotment is done as per the rules laid down by the higher authority of the
organization and these rules are published by the secretariat. Your distant relative
works in this office as your senior assistant. She pleaded to the secretariat that she
~ ghould be given priority in house allotment as she has to take care of her ailing
in-laws. Another junior staff member also requested to the secretariat to allot house
as he has to take care of his ailing wife. The secretariat turned down her request by
pointing out the rules and on the basis of these rules the junior staff member has
~ been allotted the house considering the nature of his duties. Now your relative is
- pressing you to help her to get house that is allotted to the junior staff member and

mmnm her annoyance. You will,

cretariat to allot the houses without considering any request
problems like ailment of relatives.
stariat’s note as they have strictly followed the rules set up
gh that might strain your relations with her and other

explain the rationale of the decision made about not

PTO.
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You are a senior government servant known for your integrity. You are approached
bya group of activists who are working for social justice for the people who are

~ considered low caste by other groups, in most of the villages in your district that is
~ under your jurisdiction. Many Buddhist families from these villages are facing social
boycott and are living in miserable conditions. Activists want you to support the
ment and actively participate in it as you are against social stratification of any
Government Conduct Rules prohibit government servants from participating
y related to criticizing government for the condition of these people. In this
n, what appropriate course of action would you choose from the following list
(1) You know that large number of people are denied justice due to hegemony of
so-called high caste people, therefore you assure this group full support and
guide them to plan activities for long-term change related to this issue, though
is a very difficult task.
rage the group from doing any activity related to the problem of social
s this will aggravate the problem of the concerned people.
 the group that you cannot participate in any kind of such activity as
s8 prohibit you to do this and you are aware of the fact that even
d people don’t have any empathy towards these people.
up that you will give them full moral support and needed
getting involved personally in the programme to avoid any
lated to this issue as so-called high caste people including
ment officials support social boycott against these people.

Ia,r:
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(2) T wE # S e e R T we
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Ym are from a farmer’s family and working as the Government Agriculture Officer.

‘The Agriculture Minister ordered you to organize lectures for farmers by his friend
who is self-proclaimed organic farming expert and celebrity. The Minister also
expects you to make VIP facilities available to him. You, as an expenenoed member
utmﬁnﬂy,msm that his methods are not tested scientifically and do not give

m af the scientist who assists farmers to experiment with
ilable on internet for guiding farmers,

nister that this person is a fraud,

elebrity as you know how difficult it is to convince the
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